FmE Products Chapter

fE&€ RS 13-35 Aluminum Combination Pulley Series
S8 E5 36-85 Aluminum Guide Pulley Series

FFEFES 86-97 Fiber Optic Pulley Series

EHEHEES 98 Drum _and Shaft Series



sae MBI R

Aluminum Combination Pulley Series d % g& Eag"ﬁ
FOR WIRE&CABLE N

Rig
e E BN AT HNEF L, B,

1. =REES , IMIEE | MEERE.

2. BOAREMASISRBMENT | BEEET 0  MALEEEIEE | BLEBRZEE.

3. BREAREER  KEERER , HE.

4, MIBFLE100-400mmBFEliE , HARMB800-1000mm AERV. UR, FiE
Ak '

5

Purpose

The storage wheel is mainly used in extrusion production lines and forming machines. Our company's

wire storage wheels are produced using machining technology, with high precision, good parallelism,

and surface smoothness leading the industry. With different surface treatments, we ultimately obtain

exquisite products one by one

Features

1. The product with high strength, attractive appearance, affordable price.

2. The entire surface with CNC precision machining, the groove is smooth, not hurt the line, the size of bearing
position control precisely, avoid line jump and broken.

3. Each equipped with safety stock, fast delivery.

4. Complete specifications ¢100-@500mm variety of optional, the type of grooves have V, U, flat available,

5.Surface treatment includes hard anodizing, porcelain spraying, and spraying hard surface materials. Récommend

spraying hard surface materials, which mainly include tungsten carbide based spray powder and chromium carbide

based spray powder, with high hardness,Good wear resistance, adhesive wear resistance, corrosion resistance, and

high bonding strength.

EE4IE Surface Treatment

Spray porcelain Spray hard surface material Hard anodizing

__BE



s a -l Combination Pulley Series

©95-A/Bfii k- E1E

©95-A/B COMBINATION PULLEY

®95-Ax12.13

0.5
78.5 -

PCDp54-018*6PCS:

0925.2

J[——«324i‘0.01%}

N—T1.3%814
2

r40."!’2"‘/
%
.
6
N
|
s

—12.13—+

Y
o =
n @

®95-Bx11.38

5
0.5

78.5 -
PCD954-018*6PCS:

3
93

[adl-RE= ®mS MBS SCFCAh

: : 4
s 5 ® Rl ﬁ =
. A 1 N — l
Part name Number Model Bearing ‘ \ P —

®95-Ax12.13 A06-10006 ®95x12.13 6901272

Y41 1~
E

®95-Bx11.38 A06-10001 ®95x11.38 6901272

®100-Ax15.5

®100-A/B/Clizie—-E1E —

‘ 923

®100-A/B/C COMBINATION PULLEY e 1 ; [V %t

©

i CRL

—1111.5—
11 24«'
—15.5—

53.13
o

i
L—‘@ZGiO.OI%J

27.2
—934-
PCDop56-015*6PCS—

1.3

80
8

100

®100-Bx14.5
9100
h* *9);5 ~~~%|
\ ! |
NI

17

2.5

Rl

——14.5——

& \ ‘ E @
L‘@ZBiO.OlA

‘ 027.2

‘ 34

‘ PCD@56-015*6PCS
80

93
®100-Cx12

———— 100
Part name Number Model Bearing | 923

il

3
LQAQJ

r110.5—

\
|
T

<53.13"\/

1.3°914]

FEmBTR wS MRES SRS

®100-Ax15.5 A06-10017 ®100x15.5 600027

|

,
Il

|

<53.18"\/

©100-Bx14.5|  A06-10014 ©100x14.5 600022 ”26;‘1;014
34

- PCDp56-015%6PCS
®100-Cx12 A06-10011 ®©100x12 600027

0

1.3

<

8
9

@




e 25
®100-01/02ff &5 —ElHE

Combination Pulley Series

®100-01/02 COMBINATION PULLEY

2100-01
100
92
75
PCD®51-912*6PCS:
34
| =3 % ®
‘ #9228 o1 = o
— U“J
. | |
le}
< L)
| 2,
< R2 <+ o
h _I T
‘ 100 |
2100-02

100

9

75
PCD@¢51-912*6PCS

©118-A/B/Cli&%ie

®118-A/B/C COMBINATION PULLEY

FEmER wms MBS SCRCHA
Part name Number Model Bearing
©118-Ax23.39 A06-60183 ©118x23.39 | 62032Z
®118-Bx23.39 A06-60193 ®118x23.39 620327
©118-Cx19 A06-60182 ©118x19 620377

B 15

®118-Ax23.39

\
|
\
\ 34
| 3
F=ERETR WS SRS | SCRCHR | s | g
. : i
Part name Number Model Bearing /\ é %7 CL
E i ' Y Jwe 23
®100-01 A06-10031 ®100x19.33| 2-6900Z7Z *\/ %— T ]
©100-02 A06-10032 | ®100x19.33| 2-6900ZZ | = ‘

?118

9112
96 .
$36 a
¥
I | ‘
& ] ! 18
0 N & | [-R3 290
el —
= | | ' P _I \
g I
L ss0t000— éo
9425 =
118
®118-Bx23.39
118
12
996 %
36 <
| | ‘
. 7 N\ 23
2 - SERE
= Ly . B3 n \
i I AN
Liowio.mQ So
0425 =
111
®118-Cx19
118
296
36
|
1 } N L l
% L] ‘ 2
i S \ ORNERS G 2
3 [ ; P S |
i I t
L ss0t000— &
9425 =

o111



- 23

fEZ 2R
©300-A/B/ClitZ%i—F8

©®300-A/B/C COMBINATION PULLEY

Combination Pulley Series

FEmB R

wmS

MRS

SCFCAh&

Part name

Number

Model

Bearing

®300-Ax15.1

A06-10330

®300x15.1

62012z

®300-Bx15.1

A06-10331

®300x15.1

620127

®300-Cx12

A06-10329

®300x12

62012z

©300-Ax15.1

»300

9294

0280
032801

10

L—@ZB**l

6.6

»300

©300-Bx15.1

9300

9294

»280
932801

10

15.1

I'*(2)284'J

6.6

9292

©300-Cx12

9300

»280

‘ 03230

15.1

-7

L,®284J

6.6

9292

12




R

Combination Pulley Series

©350-A/B(R4)fit - VIg

©350-A/B (R4)COMBINATION PULLEY

PR WS RS SCRgHHR
Part name Number Model Bearing

®350-Ax36.4| A06-10519

©350x36.4 6207727

®350-Bx36.4 A06-10521

®350x36.4 620727

®350-Ax36.4 A06-10524

®350x36.4 | 2-6007ZZ

®350-Bx36.4| A06-10522

®350x36.4 | 2-6007ZZ

@350-Ax36.4
350
337
306
104 <
75 e |
[-—mzxom‘j g | ;;
\ T ] ‘
L : N T .
o
s 7 o N NN %Eg
N2 74— T N
l 350 ‘
@350-Bx36.4
350
337
306
104 5
75 3: <
r—-—@)"/’Zi0.0lﬁ ‘V CP
] 1 | ] W
f -
5 T | & NN
© i 1 Q
Y o ——— N=F ]
‘ 335 ‘
®»350-Ax36.4
9350
337
—p306
PCDp210—-980*6PC
104 - ‘
o [———965—— o
o 0628 or & } -
]
A \ b |
s % N IREm Se
© i 0 @
N\ ) \ t\N }\\JN |
‘ 350 ‘
®350-Bx36.4
350
337
306
‘kPCDﬁZlO*@BO*GPCS—T
‘ 104 =
65 go ‘
628 or &

—13.9

I i

B

Z /2 | S

N

%’ 164
L2165J |

335




s A Yl Combination Pulley Series

®600-A/BfiE&%e

©600-A/B COMBINATION PULLEY

FRER wmsS MISELS | SCESHA
Part name Number Model Bearing

©600-Ax46 A08-10523 ®600x46 2-6210Z2Z

©600-Bx46 A08-10524 ®600x46 2-62102Z

®600-Ax46

600
0587
0550
PCD9330-9130*6PCS
118
93.5
$90-8 01

18.65

BT
-6

L R1Z-

Sid
ST S—

= -t -4
=
s}

34.69°
A
Y
N
AN
%,
-;¢
i

®600-Bx46

9600

0587

9550

PCD@p330-9130*6PCS
118
93.5

690_§ o1

18.65

2
-6

o

46—

J-12~F

/}7
Ef

31.6

I
N
N

A\
%

34N



mas S Hl) 25

Aluminum Guide Pulley Series EEZ&%Q".—?

FOR WIRE&CABLE

Rig

1. SMkEsE , MBS

2, FIBSTE , e45-420mmBHEENE , AEEVEIURE  BHER. W POtEELES] |
3

Purpose

The guide wheel is mainly used in wire drawing machines, twisting machines, annealing machines, and cable forming
machines. The guide wheels produced by our company are machined, with smooth surfaces, high precision, good
parallelism, and strength; At the same time, the surface is sprayed with hard materials, greatly improving the product's
lifespan and receiving high praise from customers.

Features
1. The appearance of fine, affordable price
2. Complete specifications ¢45-¢420mm various optional, U-shaped grooves V-shaped groove are available,

the number of groove have single, double, triple, four-slot or custom,
3.Surface treatment includes hard anodizing, porcelain spraying, and spraying hard surface materials. Recommend spraying hard
surface materials, which mainly include tungsten carbide based spray powder and chromium carbide based spray powder, with high
hardness Good wear resistance, adhesive wear resistance, corrosion resistance, and high bonding strength.

mawz Surface Slots

g VBItE UBE
Flat groove V-groove U-groove

Can be tailored to the customer a variety of other specifications of guide
pulley, to provide the latest product technical support

36 I



SHEY

©27x15%5%

Guide Pulley Series

©27x15 GUIDE PULLEY

®27x15

827

920

914.6

[——;9)14&0.01———‘

15

A

11

1

13

10

|
s

g
—
—

|
|
|
|
|
|

R1

FmER wms HEES SN
Part name Number Model Bearing
®27x15 A07-20045 ®27x15 2-605Z7Z

O30x11845

®30x11 GUIDE PULLEY

210

112.06°

=

]

I
|
|
|
|
|
|
|
|

ke

FRER wmS MEELS SCReHR
Part name Number Model Bearing
®30x11 A07-20080 ®30x11 60577
®34x10 A07-20113 ®©34x10 L 05
®34x6 A07-20110 ®34x6 mFL o5
®30x11 ®34x6
030 034
?31
817 B ®5+g,05 _
©014.6 e
I———m14¢o.01—w ;5 . ir QL
| 724 AT |
I %g N ®34x10
‘ s H 93481
i = ’ ~| @51 -
| J
\

—.8—

10

i 37



v ulde Pulley Series

©52x88 45

©52x8 GUIDE PULLEY

FmER wms HRES SCECH&

Part name Number Model Bearing

®52x8 A06-60029 ®52x8 69577
»52x8

52

PCD#28-88%6PCS

[ T V/ ‘ | [ § 7
= RO.S 7R | T ! 5 | g
\ i i N8 \J
L—ﬁlBiU.Ul-—J %j
®58x16%%5
®58x16 GUIDE PULLEY ®58x16 (R0.4)
?28
«@ 218
!
i -
| T /\
ﬁIﬁ 13 | 7 . %22%%Jf
r i :
$22+0,01 ‘:
923 -
239

958

®58x16 (R1)

28

o 918
i — A
PRSI e MiSEE | SEHER L VT L O !
i l 2 T %, 3
b
Part name Number Model Bearing L — f %/
-
[av) 3
®58x16 A06-20044 ®58x16 60827 “22;2'01 TE
®58x16 A06-20045 ®58x16 60822 #58

B 42



St
©80x26RFAHS S

®80x26 GUIDE PULLEY

Guide Pulley Series

02280

45

1.45—

FERam wms MgES SCReHhR
Part name Number Model Bearing
®80x26 A06-20140 D 80x26 2-6900Z2Z7
®80x24 A06-20131 ®80x24 2-6900Z2Z
®80x22 A06-20130 ®80x22 2-6900Z27
®80x20 A06-20129 ®80x20 2-6900Z2Z
»80x26 ®80x22
975
n
i . | |
8, ; r——~R1 =3 ;
2 <L : \j\\ & ¥ RL
L I \ s L
! i
2 9 022 8 ) ) = e2sia
o P o 023
D80x24 »80x20
T T
3 ! 3 '
-~ | 'y a % |
F o i 7
8 | < \ & [ e
¥ © T S S ‘
i BRI | L 1
! - i !
, . : [

&
®

-90°




= 56

SHEY

Guide Pulley Series

©86x37(R1)AES LS

©86x37(R1) FIVE-GROOVE GUIDE PULLEY

O87x15Hi%EHS B

©87x15 GUIDE PULLEY

FERER WS MRES SEFCHR

Part name Number Model Bearing

O86x370E&S4 (R1) | A06-60301 ®86x37 2-60827
»86x37

$80+0.05

—®18—
T
~2
(o)}

+0.01-
34
86

t
—p221+0.

. G
5T—* 25
v

Gt

FEmBR wS MIERS SN S
Part name Number Model Bearing
®87x15 A06-20159 ©87x15 2-F60877
®87x15
87
76
30
22 80

90°

N\

11

[xp]

L**11.41——J

<




S8 %5 Guide Pulley Series

©120-06/075%

©120-06/07 GUIDE PULLEY

®120-06

8120

094
PCD®60—920*6PCS
034 =
27.2 o
——026+0.01—|®

A
J4b

NG

33

%iy

BN
16—
19—t

L

T
I
|

$®120-07

9120
994
PCD960—-920*6PCS
934
923

-

PR AR RS Mg SCRCHR —o22£0.01— 5
Part name Number Model Bearing Q%; : W
! 3

95.15
AN

4

©120-06 A07-21408 ©120x33 | 2-6000ZZ et

a. k Rr2 o
291 4{
®120-07 A06-20276 ®120x33 2-6900Z2Z |

©120x145%¢

©120x14 GUIDE PULLEY

FRER wmS MRS SIS
Part name Number Model Bearing

®©120x14 A06-20251 ®120x14 | 6000/60012Z

®120x14

$120——

9100——

p————————PCD®66-920*6PCS-
B\ | . i E
. \ T, ﬂ 4 } 7 &
4 SL ‘ N E T I Wﬁ (R §
< B 2]

S

65l




S5 Guide Pulley Series

O 250x255%

©250x25 GUIDE PULLEY

P EmER s HIgEIS SCRCHH
Part name Number Model Bearing

®250x25 A06-20373 ®250x25 | 2-6005Z2Z

®250x25

50— —
2280—
PCDp145-940*6PCS
88—
-
49.5 So
Y

047 or 5

‘ hrad

% % ‘ % 7

r11.65

.7.
-

)

w
0,78~

g
B S

©250x30&4¢

AR WS ERS SCRRHA
®250x30 GUIDE PULLEY
Part name Number Model Bearing

©250%x30-01 A06-20385 ®250x30(R3)| 62082Z

©250x30-02 A06-20386 ©250x30(R10)| 620877

©250x30-01

250

218
PCDp150-945*6PCS

100

2.7

%@
:
A —

®250x30-02

50—
6218
PCDe150—-045*6PCS
9100

$83.5

‘ 80+0.01 ‘

g

! N

g{\“ (SN J:s}

LS

!
1
.

73



St ERS|

Guide Pulley Series

®290x28/445%

©290x28/44 GUIDE PULLEY

B wmS MRS SCRCHHA

Part name Number Model Bearing

®©290x28 A06-20401 ®290x28(R4)| 2-6006ZZ

®©290x28 A07-23718 ®290x28(R8)| 2-6006ZZ

®290x44 A06-20406 ®290x44 2-600827
®290x28(R4)

9290
250

PCDo165—-960*6PCS
90 |
5 .|
5.8 S
/= ¥ ( X
i | ‘
s Z V% ; N 8w 14
N/ | W NN
®290x28(R8)

290
260

PCD0165—-860*6PCS
?90
958 A
[ 0558 01 '§c
V] [N
7 o
S | i 1]
1) |
5 /T 7 . N ST 8 8
a |
\/7/ o ‘ A | k \ ER =8
®290x44(R4)
8290
0250
PCD6165—960*6PCS————————
90 i
71 = l
< 08—801 ?:
i+ o
1
=
1

45.24°
~

w s “

AN
L
%
s

75l



S EY Guide Pulley Series

©800x415i—-E1E

©800x41 GUIDE PULLEY

FERBAR wmS MBS SERCHAR

Part name Number Model Bearing

®800x41 A08-20254 ®800x41 | 2-6911ZZ

®800x41
800——
750
PCD0450-0180*6PCS
125
& —®80-80—
| T —Q72—
& ] f e 11
i = 00 gy
g & ZZZ Z N 2 giﬁv 4
A
©65x700iF S48
©65x70 ADJUSTABLE GUIDE PULLEY
B ws RS SN BHREE
Part name Number Model Bearing Scope
®65x70 A07-20543 ®65x70 2-60012Z 0-20
®65x70
70
‘E HIHELE
| 2 .

L]

iz E—
% \g —32 =

34.5
——36

M36*2
50

—$28-80—

5—.
528 %0
L M36*2
5
2

LiMSG*ZQ
50

= 84



SR Guide Pulley Series

O 80x500 i S4e

©®80x50 ADJUSTABLE GUIDE PULLEY

P B wmS ERS SIS BEERE
Part name Number Model Bearing Scope
®©80x50 A07-20834 ®80x50 2-620277 2-15
»80x50
R
sgl—1—& —F—3%8 sslL-—1-d%g [ L3
S = =
| |
| |
—11— S—11— [
\ ] ‘
—13
15/J

8.5~

50 e

®80x1267]id &4

®80x126 ADJUSTABLE GUIDE PULLEY

AR wmsS RS SRR | BATRE
Part name Number Model Bearing Scope
®80x126 A06-20592 ®80x126 | 2-620277 0-50
»80x126
126 —+ 82
_ T KT
51 ‘ ‘ [
: f e
! - x 1l 4 i
s i T L Ajs 3 EEEREL
7 =l s— || L]
7 Y e

|



cas YHERIP =5

Fiber Optic Pulley Series B2k 24
FOR WIRE&CABLE &

iz

HAREEENAT A RIPEE TS, RENFETL. KABERERN , . KAKDHES
S, KAPBRERNRAMICAEETIRE. HIFRENESSH/LEE—FEARSE | LT
HARNERZAER  RESHERRF—EER. B. BLENF. MEES  FA3LT K
BN FIE I LA EHRIA1BHMATE  FREESEBHEZFANTUNER,
FLFRMIRME0-170mmEYKAFIE , FREECEFESMHREER , IEEERIVSRIHERHEITUR,

Purpose

Optical fiber pulley used in optical fiber secondary sheathing line, tightly wrapped fiber production lines, fiber
coloring rewinder,, fiber tension screening rewinder,fiber optic top rewinder and other optic fiber production
equipment. Its operating speed from a few hundred to ten thousand per minute, so the fiber pulley have vary
requirements, the requirements of high speed pulley must be light, thin, concentricity, high wear resistance,

our company through a long period tests and experiments have been able to produce up to 10,000 rpm rotational
speed fiber pulley, the quality of products to meet the demanding requirements of customers. our company now
offers 60-170mm optical fiber wheels, the product range has been basically covered all equipment requirements,

if necessary, we will provide test samples for your company.

FHEAL PR Surface Treatment

Spray hard surface material Hard anodizing

Can be tailored to the customer a variety of other specifications of fiber optic
pulley, to provide the latest product technical support




StAFECE Y Fiber Optic Pulley Series

O 60x6%4F4

©60x6 FIBEROPTIC PULLEY

FRER wS HISBLS ST DES
Part name Number Model Bearing
D 60x6 A07-50008 ®60x6 2-F676ZZ
®60x6
250
“" 91088 f

& Rros \‘\\{\\\\\\\\\\\\\\\\\\\\\\\\\\\\\§ | %////////////////////////////////,,/// 1l
8 s n NN & g |

©64.5x6.327%445

©64.5x6.32 FIBER OPTIC PULLEY

FFRBWR wS MRS SCECHAR
Part name Number Model Bearing

©64.5x6.32| A07-50013 ®64.5x6.32 | 2-F676ZZ

®64.5x6.32

964.5
955.5

" 102887 [‘ OTO

6.32

L1l 318

. 37



Fiber Optic Pulley Series

S ERY

O70x10%4F58

©70x10 FIBER OPTIC PULLEY

FREMR WS HIgES SCFEC A
Part name Number Model Bearing
®70x10 A07-50056 ®70x10 2-F6977Z
®70x10
70
260
024
178888
o -

l'5,72‘1

\

| o

| ' 715 @
| 3
\ ~J{

O70x10¥%FFE

©70x10 FIBER OPTIC PULLEY

FERER WS HgRsS SCRCHR
i Part name Number Model Bearing
®70x10 A07-50057 ©70x10 F606Z2Z
®70x10
o700
?60

0172886

f 7]
= = &

B 5o



FFHERY

®170x12¥64F45¢

®170x12 FIBER OPTIC PULLEY

Fiber Optic Pulley Series

FRER wmS SRS TR
Part name Number Model Bearing
®170x12 A07-50207 ®170x12 | 2-6802ZZ

®170x12

®170x15.15% 4%

®170x15.1FIBER OPTIC PULLEY

FERBTR wS MRS ST
Part name Number Model Bearing
®170x15.1-01 A07-50210 ®170x15.1| 2-6900Z2Z
®170x15.1-02 A07-50211 ®170x15.1| 2-6900Z2Z

®170-01

15.1—

10.11

13.1-

®170-02
170-

9167

2288

13.1

934

1.1:34—

. 07

49.95°



BRI ERY Guide Wheel Series

i 100 "
84— —8 s -
LT T ed { M Ll
8 < g S g t g °
bl I P s . . P
14x14 % — 14x144 L
M| | MIG ]
6 ) 8 © g2
1o 60— g E 15 100 gg
A A
©28*60i&E (M10ZF/M8%F ) i

©28*100:&E (M10ZF/M8F ) i

= - —_ e 120- 1
T d g

{ N g 1

g 1 37 t é FT
14x14 *# Y 14X147\\—ﬁ —1.18%
MG | MO

: © &
25 g%
e

—120—
165—

©28*80i&R (M10ZF/M8%F ) #ik

99.6
©10-380%8—

©28*120:8 % (M10F/M8F ) fs
UL bR EAmiRES, BREEHTIE, BERERFEEMH

The above are standard parts for rollers/shafts.
If you need other specifications, please refer to the drawing for customization

"

® -

&

B 08




 
 
    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 所有页
     胶带坐标： 相对水平位置：-84.38，相对垂直位置：772.56，胶带宽：696.62，胶带高72.19（单位：points）
     来源： 底左
      

        
     1
     0
     BL
            
                
         Both
         35
         AllDoc
         163
              

       CurrentAVDoc
          

     -84.3823 772.5566 696.6229 72.1937 
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     2
     167
     166
     167
      

   1
  

    
   HistoryItem_V1
   TrimAndShift
        
     范围： 所有页
     裁切边缘：顶 56.69 points
     Shift： 无
     高级选项：旧版
      

        
     32
     1
     0
     No
     1208
     278
     None
     Up
     0.0000
     0.0000
            
                
         Both
         116
         AllDoc
         118
              

       CurrentAVDoc
          

     Smaller
     56.6929
     Top
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     44
     167
     166
     167
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 从第71页 到第71页
     胶带坐标： 左下角 (588.45 -3.49) 右上角 (642.66 786.06) points
      

        
     0
     588.4451 -3.4924 642.6555 786.0557 
            
                
         71
         SubDoc
         71
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     70
     167
     70
     1
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 从第70页 到第70页
     胶带坐标： 左下角 (587.57 -3.49) 右上角 (643.53 786.93) points
      

        
     0
     587.5707 -3.4924 643.5298 786.9301 
            
                
         70
         SubDoc
         70
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     70
     167
     69
     1
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 从第70页 到第70页
     胶带坐标： 左下角 (-4.37 -3.49) 右上角 (6.99 785.18) points
      

        
     0
     -4.3718 -3.4924 6.9949 785.1814 
            
                
         70
         SubDoc
         70
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     70
     167
     69
     1
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 所有页
     胶带坐标： 相对水平位置：586.70，相对垂直位置：-3.49，胶带宽：28.85，胶带高789.55（单位：points）
     来源： 底左
      

        
     1
     0
     BL
            
                
         Both
         35
         AllDoc
         163
              

       CurrentAVDoc
          

     586.6964 -3.4924 28.8539 789.5482 
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     70
     167
     166
     167
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 所有页
     胶带坐标： 相对水平位置：-0.87，相对垂直位置：-3.49，胶带宽：9.62，胶带高788.67（单位：points）
     来源： 底左
      

        
     1
     0
     BL
            
                
         Both
         35
         AllDoc
         163
              

       CurrentAVDoc
          

     -0.8744 -3.4924 9.618 788.6738 
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     71
     167
     166
     167
      

   1
  

    
   HistoryItem_V1
   AddMaskingTape
        
     范围： 所有页
     胶带坐标： 相对水平位置：-185.36，相对垂直位置：767.69，胶带宽：785.18，胶带高20.11（单位：points）
     胶带坐标： 相对水平位置：-125.03，相对垂直位置：765.95，胶带宽：730.97，胶带高21.86（单位：points）
     来源： 底左
      

        
     1
     0
     BL
    
            
                
         Both
         35
         AllDoc
         163
              

       CurrentAVDoc
          

     -185.3646 767.6942 785.1763 20.1103 -125.0337 765.9454 730.966 21.859 
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

        
     21
     167
     166
     167
      

   1
  

 HistoryList_V1
 qi2base



